A} | 3 (Sem-6) ECO M 1

2019

ECONOMICS
( Major )

Paper : 6.1

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=T7
werd 2CATd Teq fere

(a) Write one objective of Performance
Budgeting.

PR AN ACHH GO1 Sewe o1 1

(p) Who is the Chairman of India’s
14th Finance Commission?

RGN bor e TR TGH @ 2

(c) Write one feature of Federal Finance.

TG 8 TraER 9o e foray |

A9/784 ( Turn Over )



(2)

(d) Write one limitation of Fiscal Policy

W%qﬁﬁwﬁm

(e) Give one example of indirect tax

T 99 961 Swrzae foray |

(l Write one objective of tax
underdeveloped €conomy

“@WEWﬂmowawqﬁﬁﬁvwnﬁﬂl

in an

(g) Write one :
objectiv
Services Tax (GST). € of Goods and

ARG CRI 393 951 Tewy forey |

2. Answer the following questions

T AR B For e

(@) Distinguish between

backward shifting of il forward  ang

b . :
(b)  Write two objectives of Fiscal

Wﬂ%‘iﬁm%ﬂl

. .
() Write two canons of taxation

T 01 W foyay ¢

(d) What ig Zero-base bud
[ifsfes CES I Q@Me 9

policy.

geting?

A9/784
( Continued )

(3)

3. Answer any three of the following questions :
5x3=15

ware iyl 2 R e fofoe Tes foe

(a) Briefly explain the meaning of impact,
shifting and incidence of tax.
@ REE, PR WE SEeed w9y 5T
EIIRIESEIN

() Explain the relevance of Functional
Finance in a developing economy.

Trgee S Terteias e e o |

(c) “Fiscal policy helps to control inflation.”
Explain.

‘qrEeRE Al qErEfe gl e R
3¢ 7 @i forn
(d) Explain the various types of government

budget.
54Ia1 qICend [Afe PRI I 1

(e) Distinguish between progressive taxa-
tion and regressive taxation.
TR N HF TRPEM  F§ o

“[2fFPTR ol |

4. Answer the following questions :
were il e Teq foe

(a) Distinguish between direct and indirect
taxes. Write the advantages and
disadvantages of direct tax. 6+4=10

oOFF HE A T WG ol foran 1
2O T U1 e SPYREPTR e |

( Turn Over )

10x3=30

A9/784



€conomy. 10
9 YA Sesqrm U RS9 @oqw waq

(b) Discuss the characteristicg of a good tax

in a developing economy 5+5=10
LGRS s R — M1 93
SR s e SR foray |

System in India, 10
T RS 21 o 2 SO JeT
e m”ﬁm%%wa?n

(c) Wh_at are the Compone

4+6=10
s 7 iﬁﬁfﬁmn qcEs R CE T
* A

A9—7000/784
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3 (Sem~6) ECO M 2
2019

ECONOMICS
( Major )
Paper : 6.2

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

( APPLIED STATISTICS )

1. Answer the following as directed : 1x7=7
(a) What is price relative?
w3 A 2
(bl GRI = x Total fertility rate

Total birth

( Fill in the blank )

S EREEES

A\9/785 ( Turn Over )



()

(d)

(e)

(9)

(2)

What is time series?

Freca &2

Standard error plays a vital role in large
/ small sample theory.

( Choose the correct answer )
GIRICEIRCC S el e / Tu der{ 999
G BT AT 53 |

(% Seaco! a1 Tfersdr )
How is quantity indices obtained?
wﬁmﬁamﬁ @eTes T 41 28 2
What is meant by sample?
Ao Ifercer e qem 2
What will be the form of trend equation
when trend is linear?

S TR P Sefs S T
2’79

2. : =
Answer the following qQuestions briefly : %458
ST FRl AR 5y g fry -

(@)

(b)

A9/785

What is wholesale price index number?

(3)

WWWW%?

What are the four important methods of
Measuring trendp

S O T o g el o o7

( Contin

ued )

(c) What is crude death rate?
SNfAS (crude) To 2[ 62
(d) “Index numbers are economic
barometers.” Explain briefly.
‘e R TH WA T T3 LT
BIRIESIN
3. Answer any three from the following
questions : S5x3=15
were frg) epeares R e fofbr Tee fr
(a) Define the following :
et P e fr
(i) Stratified sampling
9 \9
(ii) Systematic sampling
A Afena
(b) Discuss the various components of time
series.
IR ffen TAmEez W TeReeER
SICETOT 4T |
(c) Find Laspeyre’s quantity index number
from the data given below :
oo il SRR #RT AR IR P
forefy =1
Commodity ; 204 3 —gid \J
) Price (Y) | Total value | Price (¥) | Total value
7 (%) bRl (%) T 3o
A 5 50 4 48 |
B 8 48 7 49
(e 6 18 5 20
49/ ( Turn Over )



(4)

(d] What 1is life table? Mention the
assumptions for construction of a life
table. Write two uses of life table. 1+2+2=5

ST I 6 2 SRpy el st Rt e
T 7 empr wiftew LREICE
1

(e) Prove that Fisher’s ideal index number

lies between Laspeyre’s and Paasche’s
index number. 5

2T 91 @ R e s w6 o
“Nfed e 2 |
4. Answer the following questions :
TS Tl e e

(a) D‘efine Fisher’s index number. Why is
.F1shef’s index number known as an
ideal index number? Calculate Fisher’s

10x3=30

index number from the following data :

2+2+6=10
PR T i R e 2 e TS
o7 ey TRE o1 T 3w 0w wARIR
S‘W PRI s fety 2wy <
C . FWT Current Year
oo . o |
frice (7) m Price (T) Wy
a8 | A | me | AR
B 6 50 T | 56
o 2 100 3 126
L o | ]4 60 6 64
e R S T |25
A9/785 '

( Continued )

(S)

Or/ G241

What is cost of living index number?
Discuss the steps involved in the
construction of cost of living index
number. From the data given below,
find out the cost of living index
number :

&g fifea T pers 7 G ez I
RS T (P e Rz B
HCEGA G911 GO SRR 241 Sew R 9
SIS fefa 4

2+3+5=10

Base Year Current Year
Group fefe o 51 W
Price (¥) | Quantity | Price (¥) | Quantity

7 (7) “Af3719 7 (¥) A
Wheat 10 50 6 30
w5l
Rice 5 25 4 20
BT
Fuel and Lighting 8 10 3 8
BT S (1E
Clothing ¥ 20 8 17
93
House Rent 9 30 10 45
< 91|
Miscellaneous 6 40 12 ' 70
ATl

= 71

A9/785

{ Turn Qver )



(6)

(b) Discuss the moving average method.
Calculate five-yearly moving average
from the data given below : 4+6=10

R T mfed W@ WCEAm | O
SRR *RT TR 5513 51G foiefy 1
Year : 2010 2011 2012 2013 2014
=Y
Sales (¥ in’000) : 64 43 4.3 3-4 44

& (°000 55Te)

Year : 2015 2016 2017 2018
=9
Sales (7 in’000) : 54 3
S ; 4 2:4 14
R (°000 53Te)

Or/ g1

Fit a trend line to the following data by
the method of least square :

ST Tl SRR o1 ey 2 opafors GRS
TS frefRer < -
Year
2
o 000 2001 2002 2003
Profit # in 10k
%(th;) h) 60 72 75 65
A9/785

( Conﬂ'ﬂued

)

A9/785

(7))

Year : 2004 2005 2006
=Y

Profit (¥ in lakh)

S (=114 537S) 80 83 95

(i) Calculate the estimated trend

values.

e TemforTza I fefa 41 |

(i) Also estimate the likely profit for
2008.

e 2008 Be FIEAR WA S
e 4 6+2+2=10

(c) What is fertility? Discuss the various
fertility rates commonly used for
measurement of fertility. Explain the
fertility rate which is used for
comparison of fertility situations for two
different regions. 2+6+2=10

Tl < 2 WWWWWWW
S{1ceAsA 91 | RS weeere THqel were e
TS (@A SO IQ [ T4 |

( Turn Over )



(8) (9)

Or/ =[] ( ECONOMETRIC METHODS )
Discuss the advantage of sample survey 1. Answer the following as directed : 1x7=7
over complete enumeration. Discuss the GG ISR ﬁ[‘f‘[ﬁ‘ﬁl Teq
merits and demerits of :
sampling ot Bystematy (a) Heteroscedasticity means equal
; 5+5=10 variance.

qwolcf N TS S — ’1@ ,( Write True or False )
ST 391 1 W @9 W (TR Sl g Roferet T 25 AL |

9 | | (om oo )

(b) In autocorrelation, OLS estimates are
no longer BLUE.

( Write True or False )
el ST@e OLSd fd@ 2 BLUE @
AT |

(o= G SgE o )

(c) There is perfect collinearity between X,
and X3 when coefficient of correlation
r-23 iS

( Fill in the blank )

afeq smE @R ryz I T =,
. ofem X, OF X339 WS #jef Foo{7l AT
41 T |

(<& 32 o <)

Al 5
A9Q/785 {Contz’nued} 9/78 { Turn Over )



(e)

(9)

(11 )

(10 )
} the following questions briefly : 2x4=8
(d) What is deseasonalized or seasonally el sy
adjusted time series? oS f7al TRIRE 7Y U] o
¥2rS S fiafee e T 92
(a) What is dummy variable?
Regression models that take into
account time lags are known as AOIF! vere (92
(dynamic / distributed lag) models.
( Choose the correct answer )
S AL T 9K CETRT ST Sf2 (b) Write the two most common sources of
— (o / Refvs casr) I 3w autocorrelation.
( Tm Teqeor qifz Sferear )
Tl TR YO SI0REE RE S
Seasonal variations of a time series T ford |
occur
FEICAS AP (T (73T AW
(i) within a month () Mention two features of Koyck
gY2q fooqe transformation model.
(ii) within a week Koyck 3 “ifRa =& 0l CafAgs a9
e fooqe
(i) within a year
CEESENRICE] (@) Mention the methods of measuring
(iv) within a day trend.
g foeqe e
Lol B LA
( Choose the correct answer ) Gl CGTW@T
(% Teachl Az Sfeied )
What is multicollinearity?
ﬁﬁmﬁqﬁ;? A9/785 ( Turn Qver )

A9/785

( Continued )



(12

3. Answer any three from the following
questions : Sx3=15

weTe frdl oA & e fofitm S i

fa) Define the following :

(b)

(c)

Year
NET

Value of
X variable

X Do ey

Year
=9

Value o f
X variable

X DTS qpey

A9/785

weTe frAPTEE ke i -

(i) Median lag
T4 G,

(i) Mean lag
TR (19

Mention the remedial measures when
multicollinearity is detected.

=il STOTEE A AR IRERTE Sea 4 |

Find out three-yearly moving average
from the data given below :

©oq SRIME o] fofanar tag 5w fadfy <4 -

1995 1996 1997 1998 1999 2000

2001 2002 2003 2004 2005

( Continued )

(d)

(e)

(13 )

Explain the consequences of auto-
correlation.

asfay STTEE FATrR A 9|

Explain the partial adjustment model.
SR TACAE SHIECO1 <1 41 |

4. Answer the following questions : 10x3=30

(@)

A9/T785

Discuss the first-order autoregressive
scheme. Establish the mean, variance
and covariance of the autocorrelated

disturbance model. 4+6=10
g TEd T REd Sfeum el
41 | Rl TS ofan v 4, 2
o FRePEe T 4 |

Or/ 9|l
What is heteroscedasticity? What are

the consequences of using OLS in
presence of heteroscedasticity? How

does one detect heteroscedasticity?
2+5+3=10

farw Rsferel 0 R fofireR TTme OLS
aeRd e &0 R Rl @R @
(o7 #if4 7

{ Turn QOver )



(14 )

(b) Briefly discuss the principle of Least

Square Method (LSM) of trend fitting in
a time series. Using this principle, fit a
trend line and find the estimated trend
values from the data given below : 4+6=10

TR (Fq® Tl ey iRata e 3of
AESCOT BT A 91 | 3 o] FoHe
CoR IR o[ GO SoRfe @4 S 91 W

Year 2005 2006 2007 2008 2009
=7 '
Rice production
(000 quintals) : 97 105 115 70 76
51&e7q T #friey
(*000 32%7T)
Year 2010 2011 2012 2013
&S
Rice production
(000 quintals) : 95 90 107 82
BIZe7q T iyl
('000 T25reT)
Or/ g1
Explain briefly the various reasons for
the problem of multicollinearity. What
are the consequences of multi-
col]inea_rjty? 5+5=10
TR T IR ST o TP SLR
T 1 3ol T T o 2
A9/785

( Continued )

(c)

A9—7000/785

(15)

Explain the Koyck approach to

distributed lag models. Also explain the
adaptive expectation model. Is there any
similarity = between the adaptive
expectation model and Koyck model? If
so, what is their similarity? 4+4+1+1=10

feofie w@e =1f3q Koyckd 4RECH < <641 |
(S e AT SIRCO! I 4T
Ak 2o S Koyck S1f3q ™™ Sqep
IR 7 A SR, APEEe &2

Or/ 941

What is dummy variable trap? How can
we overcome it? What are the uses of
dummy variable? 2+3+5=10

@R beed T ($ 2 W (@i TR AR
TR 1 7 29 vored e < {2

* A %
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3 (Sem-6) ECO M 3

20109

ECONOMICS
( Major )
Paper : 6.3

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Answer the following questions :

1x7=7

OO 2PICAIRE el o

(a) Define potential resources.
ST o F1gea fod |

(b) What is sustainable development?
I T 2

(c)

(d)

(e)

A9/786

What are energy resources?

& o & 7

What do you understand by ‘green

accounting’?

‘oTEE ot gfercaT 8 @M 2

What is meant by weak sustainability?

7de qzerHael Ifrce [ 9w 2

( Turn Qver )



(2)
()  What do you mean by opportunity cost?
e T I & @ o
(g9 Give the meaning of environmental
quality.
“IREITE @B qeA 92
2. Answer the following questions : 2x4=8
o] AN Ted fep
fa) Define material resources. Give one

example of material resources.

*i1ef ST TS A | SR 9B vz f |

(b) Give the difference between biotic and
abiotic resources.
(Gl B SSRT 97 Tere =135 Bl |
() What do you mean by ozone depletion?
W T e gfereat 5 gm0
(d) What is global warming?
TR aeel 2
3. Answer any three questions of the following :
5x3=15
©od R e fofibt e Teg 24 -
(a) Briefly explain the different types of

(b)

A9/786

natural resources.
ﬂWﬁwwﬁhmwmwﬁWmm

What is the relation between ecosystem
and environment?

MRCPTeT 1% ~1fRere e s 2 9
( Continued )

(3)

(c) Write the consequences of global
warming.
CoeTH S AR 2741 |

(d) Explain with the help of example
the meaning of exhaustible and
inexhaustible resources.
T U WE oW e 3w, Tmeerm
e R fore |

(e) What are the indicators of sustainable
development?
TRACN TR TS T2 Tz 0

4. Answer the following questions : 10x3=30
oS T epeared e forg
(a) What do you mean by renewable and

A9/786

non-renewable resources? Give their
important distinguishing features and
importance in the economy. 10
FRIFI W I o T 2 TR 44
e wre wifes TR wIeerT Racy forg |

Or / 9311
Discuss the views given by Hotelling on
resource depletion in a competitive
market. 10
fecafrergzre Teame T SRR Racw i
491 Hotelling ¥ TOM© HICEABAT 4 |

( Turn Over )



L&)

(b) What are backstop resources? Explain
the role of backstop resources in price
fixation of non-renewable resources. 10

ORI F& oW 7 SHAGI TR e
e Fae PO TR AT S

ofeqr 47 1
Or / 94T

What is biodiversity? How can it be
measured? Discuss the ways in which
biodiversity loss may occur. 10
tegtha 2 W @R @ W (G- |
CfbarR ==l 29 7[R FRPE HACEA 1 | |
(c) Explain the idea of integrated economic g
and environmental accounting. How |
does environmental accounting differ
from conventional accounting? 10

WO AT A W ARGRE S
EAICHT 30 41 | pfere weflafes sl o
IR 1T e #4127 ¥ 9

Or / 9241
Write short notes on the following :

5+5=10
oo fraeaa 5 (G o

(i) Concept of optimal rate of harvest
AT =M HIRIME B[/E 41—

() Concept of development environ- |
ment trade-off |

SR ARG AT 4l
* & A
A9—7000/786 3 (Sem-6) ECOM? |



3 (Sem-6) ECO M 4

2019

ECONOMICS
( Major )

Paper : 6.4

( International Economics )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
weT e e e fi «
(aq) What is the main cause of cyclical
disequilibrium in the BOP?
AT (e SIS BE Sl (IR
2y e 2

() What do you mean by international
economic integration?

B weAfes ke JferE o g@i 2

/787 ( Turn Over )



(©

(@)

(e)

(g)

A9/787

(2)

How can equilibrium foreign exchange
rate be determined?

MR et R 799 ST R
M [?

What is overall balance?

Y e Tge 2

When was International Monetary Fund
(IMF) established?

wIFEifoT Q@ @R o cafte 2

Devaluation is a non-monetary measure
for correcting disequilibrium BOP.

( Write True or False )

SR (2CR (I (Eegie] SR STl
@Wﬁkﬂﬁ@—m@@@ﬁm|

( 39 (71 =T fordl )

Trade creation leads to o o
( Fill in the blank )

e ey — TP AR
(@ 813 o7 1)

( Continued}

2. Answer the following questions :

(3)

2x4=8

woe i 2R Ted o

(a) Distinguish between balance of trade in

current account

and Dbalance of

payment.
the fRore Iffmes EFEGER AEel S
ECTE TFa] TEE A4 (TS |

(b)

State any two importances of the study
of international economics.

SRR SRl s B @R Pl e
Tred 40|

(c)

What is meant by devaluation of

money?

TR ST e 6 38

(d) State two objectives of the International

A9/787

Bank for Reconstruction and Develop-
ment (IBRD).

SRR o wE T (@S P T
TCEY 90

( Turn Over )



(4)

3. Answer any three of the following questions :

5x3=15

oo o] & e fofibre Tee fory

(a) State the functions of the World Trade
Organization (WTO).

oy T1feen ST SR Sege 41 |

(b) Why is international economics called a

separate branch of economics?

wIRAEE SYAfeT wRermy [RRE 4 ol
51 91 2 59 2

(c) Explain the differences between balance

A9/787

of trade (BOT) and balance of payment
(BOP).

(O AR GO e e o
(TR T IS #N12f ef) 7 |

( Continued )

(@)

(e)

4. Answer the following questions :

(5)

Write a brief note on special drawing
rights.

fom EaRe SRe REa aft Y
GG o |

Distinguish between spot and forward
exchange rate.

mwﬁﬂﬁmwmmwmﬂq
9 |

10x3=30

wore T epcaa Ted o

(@)

A9 /787

What is international trade? Give the
arguments for and against international

trade. 2+8=10
e e 7 STEsE IR AR
e e e SeREH! |

Or / 91

What is balance of payment (BOP)? Do
you agree with the view that the BOP is

always balanced? Explain. 2+8=10

e R v TP R e Wi
T g S SR e A g 9
GFAGC 7 90T 0|

( Turn Over )



(6)

(b) Explain the partial equilibrium

(c)

approach to Custom Union in terms of
trade creation and trade diversion.
10

[T Y ePReTS e 2 e e [epfed
SEEe SR SRETRe] 94T 4 |

Or / 92«1

Explain how balance of payment (BOP)

adjustment is made under flexible
10

exchange rate system.
R RET 2] IS e CTCTE
TS| (I FoE =, TR 91

What is foreign exchange market?
Describe the functions of foreign

exchange market. +8-10

e T R TR 0 e T
Ry qeRa a3 9

( c(mtinued /

(7))

Or / 9%4€1

What is economic integration? Do you
support regional trade blocks? Give

arguments for and against the

formation of these blocks for a country

like India.
2+1+7=10

S @S [ 7 Sk AR 07T

St ST A ? SRST T CPR A AT

SREE HOCE S [0S IE SARCe |

* %k
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20109

ECONOMICS
( Major )
Paper: 6.5
( History of Economic Thought—II )

Full Marks : 60
Time : 3 hours
The figures in the margin indicate full marks
Jor the questions
Answer either in English or in Assamese

1. Answer the following questions : 1x7=7

weTS il e ey fory

fa) Which book influenced Mahatma
Gandhi?
CPITE fororel T2ran TR 2o fifes 2

(b) Define marginalism.
fEForITa e i |

(c) Name two famous economists of
Austrian School.
ST forrs T Rae ei@iff
1< fert |

(d) Who was the main contributor of
neo-classical economics?

TPikEe wfifer §9 SRRl @
lfee 7
A9/788 ( Turn Over )



(e)

(g)

2. Answer the following questions :

(2)

Who was the Father of Welfare
Economics?

R SLAes o I Slifee ?

Why is Keynesian theory known as ‘New
Economics’?

(F2d OGS o F-wLAIfS” I R = 2
Who wrote, Poverty and Un-British Rule

in India?
Poverty and Un-British Rule in India

@I frfaifee 2

2x4=8

weT frgl 2] Ted fore

(a)

(b)

()

(d)

A9/788

What is drain theory?

foofe ©g 5 2

What is the main contribution of
Vilfredo Pareto to economics?

Heffee e’ ¢*1eab’'3 I S < 2
Write the concept of Marshall’s
consumer surplus.

T4 CSIE[ T781 REICH! fo14 |

What are the names of the two books
where one can find Ranade’s economic
ideas?

IR SIfeq WW@H@WWW
ofIf< 2

( Continued )

A9/788

(3)

3. Answer any three of the following questions :

5x3=15
Tl RS R e fofibm Tes foren
(a) Explain Alfred Marshall’s concept of
quasi rent.

SEACES LT NP ISR 4RETCS] 0 47 1

(b) Briefly explain five differences between
Keynes and the classicists.

@FET U NFPCRPReT oo Ao (123
54T TR 4T |

(c) Explain Walras concept of general
equilibrium.
A6 LR ST QRO 7 47 |

(d) Briefly explain Hicksian concept of
consumer’s surplus.
fepa (orer S1-SgEa 4R ST
<41

(e) According to Naoroji, in what ways
wealth of India was being drained from

India?
TSEIGH WO SRSHI [/l FAmE  fsfqw
@A (3f%E 2

Answer the following questions :

weTo fidl eeae Ted ford :

(a) Evaluate the contributions of the
Marginalist School by analyzing the
views of Jevons and J. B. Clark.

@eT TE (@ [ FE qeme [RoEe
WS 2R =gerd TAEPIGR TR o |

10x3=30

( Turn Over )



(4)

Or / S<1

What are the contributions of Marshall
in the history of economic thought?

et fram Hoepte TEeR TEFPHR
5 e 2

(b) Explain the concept of multiplier and its
use in Keynesian analysis.

i 5 SF R YR @ RemTe
@CTC I9TE F91 (2R ?

Or / 941

Critically explain Gandhian Trusteeship
Principle.

sreTe e OGRS <<l
I5ICET |

(c) Discuss Pigou’s welfare theory.
fPiegq el OgCOT A0 9 |
Or / J%41

Discuss Gokhale’s economic ideas and
Views.

CICTTE SYLAST 4T BT FoPeoTgR, SHCeToe
1 |

* & %
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3 (Sem—6) ECO M 6

20109

ECONOMICS
( Major )

Paper : 6.6

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
wore il eppTR] e ford
(a) Give the full form of NITI Aayog.
T scem eyl Tt 2

(b) Mention one basic objective of the
Twelfth Five-Year Plan of India.

A ofeee AR 9Ol Aq ST
TeEe 340 |

\9/789 ( Turn Over )



(3)

(2)
(c) What i )
Aes 's the female literacy rate of 2. Answer the following questions : 2x4=8
am as per 2011 Census? w5 o a7 Bl
SO 39 e 2 T (a) Mention two major failures of the
' Twelfth Five-Year Plan.
(d) What do you mean by sex ratio? i SRS AR o YA RO
e ' e Sy T4 |
I SR et 5 e 2
(b) Mention two adverse effects of Jhum

e) What i .
(e) at is the population of Assam cultivation.

according to 2011 Census?
9 R P HACIKR Teard 7 |

R035 O (SRR Yo piNe PR
(c) What are the two main objectives of

9 Ry 9
the Prime Minister’s Jan Dhan
‘ (f)  What do you mean by globalization? Yojana?
cwmqm%ﬁ? ﬁ@%miﬂ @A O AL ST
TeEd 40
(9) Which PI
incluSiVean accepted the strategy of (d) What do you mean by inclusive
growth for the first time? P
@I 5T 22qr7
[ % At
G 72 <1 R o RS S T T e 8 32
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) (5)

(e) Distinguish between Foreign direct

3.
Answer any three of the following
investment and Foreign portfolio

questions :
5x3=15
were fiz :
© fieg HPTYRA & @ fofRtR Teg forar - investment.
(@) Wh : (o
d o ais the main objectives of AL S S
cecentralized planning in India? At R Srere of1efgy o131l |
SReRe  frfige o o
() Why  were economic  reforms

ST f f 0

(b) What is the structure of NITI Aayog?
TS ST MY reererers 2

introduced in India?

Gﬁ@@f%ﬂﬁﬁ%$ﬂ?@ﬁaﬂﬁ@aﬁw&ﬁﬁ?

(¢) Give an id 4. Answer the following questions : 10x3=30
ldea of the growth
S rate of
@ er ;
Setl:;ta Income of the Northeastgrn wers T 2P el ol
es.
(a) Discuss the main causes of slow

growth of industry in Northeastern

o
Fare 3 Stat

TG GO ey fiay |
%@@ﬂﬁ%ﬂaawmﬁgaﬁmmﬁms%mma5@

(d) Discuss the j
e impacts of globalization IR @R T4 PRI ST ESIN

in Indian economy

WWWUCWW
il o - 2STE
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(b)

A9/789

(6)

Or / F4[1

In what respect the economic
characteristics of North-East region
is different than that of the Indian
economy? Discuss.

@@?‘WW Ww m%ﬁm
W@Wﬁ%\ﬁ?ﬁoj%?wwi

Give a comparative analysis of the
development experiences of the
Northeastern States in regards to
human development,

Or / gy

Give a brief Summary of foreign

trade policy of India before and after
€conomic reforms.

W%WWT@WWWW
T A o 53 12100 oy

( Continued )
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(7))

(c) What is shifting cultivation? What

are the problems related to shifting

cultivation? Explain.
el @fs &2 e G U110
SR & 162 <o 94 |

Or / J«1

Do you think India’s Five-Year Pl@s
are able to achieve the targets? Give

T
reasons for your answe

ICEIEIS
s Awe  ARTETR
e T 79 AR I o SR
R TR FCE IR T |
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